First Edge Wiener Index of Link of Graphs

K.Thilakam¹, R.Bhuvaneswari²

¹(PG and Research Department of Mathematics, SeethalakshmiRamaswami College, Thiruchirappali -2, India)

Abstract : One of the most widely known topological descriptors is the Wiener index or (Wiener number) named after American chemist Harold Wiener in 1947. Wiener number of a connected graph G is defined as the sum of the distances between distinct pairs of vertices of G.It correlates between physico- chemical and structural properties. Recently an edge version of Wiener Index was introduced by Ali Iranmanesh.In this paper, we have determined Wiener numbers of link of graphs.

Keywords: distance sum, edge Wiener index, link of graph, topological indices.

I. Introduction

A Graph G is formally defined to be a pair [V(G,E(G)]] where V(G) is a non empty finite set of elements called vertices and E(G) is a finite set of unordered pairs of elements of V(G) called edges. Molecular graphs represent the constitution of molecules[1]. They are generated using the following rule: Vertices stand for atoms and edges for bonds. A graph theoretical distance d(u,v) between the vertices u and v of the graph G is equal to the length of the shortest path that connects u and v. An invariant of a graph G is a number associated with G that has the same value for any graph isomorphic to G. If G is a molecular graph then the corresponding invariants are called molecular descriptor or topological indices and they are used in theoretical chemistry for the design of so called Quantitative Structure Property Relations (QSPR) and Quantitative Structure Activity Relations(QSAR).One of the oldest topological index is Wiener index and is defined as the half of the sum of all the distances between every pair of vertices of G.[2] ie

$$W(G) = \frac{1}{2} \sum_{u,v} d(u,v)$$
(1)

Equations (1) is called vertex version of Wiener Index .and its chemical and mathematical applications are welldocumented in [3-6]the edge versions of Wiener index were introduced by Iranmanesh etc . in 2008 as follow [7] and is defined as follows.

The first edge- Wiener number is

$$W_{e0}(G) = \frac{1}{2} \sum_{\substack{e, f \in E(G) \\ e \neq f}} d_0(e, f)$$
(2)

Where $d_0(e,f) = d_1(e,f) + 1$ $e \neq f$ = 0 e=f

 $d_1(e,f) = \min\{d(x,u), d(x,v), d(y,u), d(y,v)\}$ such that e=xy and f = uv and $W_{e0} = W(L(G))$. The second edge - Wiener number is

$$W_{e4}(G) = \frac{1}{2} \sum_{\substack{e, f \in \mathbb{E}(G) \\ e \neq f}} d_4(e, f)$$

Where $d_4(e,f) = \{ d_2(e,f) \\ = 0 \\ e=f \\ e=f$

 $d_2(e,f) = max \{ d(x,u) , d(x,v) , d(y,u) , d(y,v) \} \text{ such that } e=xy \text{ and } f = uv.$

Since all these topological indices are depends on distance between every pair of vertices of a given graph G. Let G_1 and G_2 be two simple and connected graph with disjoint vertex sets. For given vertices $x_1 \in V(G)$ and $y_2 \in V(G)$, a link of two graphs G_1 and G_2 is defined as the graph $G_1 \sim G_2(x, y)$ obtained by joining x and y by an edge. For simply we show the link of G_1 and G_2 by $G_1 \sim G_2$. The link of graphs G_1, G_2, \ldots, G_n is $G_1 \sim G_2 \sim \ldots \sim G_n$. Furthermore if $G_1 = G_2 = \ldots = G_n = G$ we use of the notation $G \sim G_n$. Balakrishnan [8] compute the Wiener

index of a graph with exactly $n \operatorname{cut} - \operatorname{edges.In}$ this paper we have determined first edge Wiener index of link of graph.

Some Known Results: For

$$K_{n}$$

$$1.W(K_{n}) = \frac{n(n-1)}{2}$$

$$2.W(K_{n}) = \frac{n(n-1)}{2}$$

$$3.W_{e0}(K_{n}) = \frac{n(n-1)^{2}(n-2)}{4}$$

$$4.WW_{e0}(K_{n}) = \frac{n((n-1)(n-2)(3n-5)}{4}$$

$$5.W_{e4}(K_{n}) = \frac{n(n-1)(n-2)(n+1)}{8}$$

$$6.W_{e4}(K_{n}) = \frac{n(n-1)(n-2)(n+1)}{4}$$

- For $K_{n,m}$ 1. $W(K_{n,m}) = (m+n)^2 (m+n) mn$ 2. $WW(K_{n,m}) = 3 (m+n)^2 3(m+n) 4mn$

3.
$$W_{e0}(K_{n,m}) = \frac{nm}{2} (2nm-n-m)$$

- 4. $WW_{e0}(K_{n,m}) = nm(3nm 2n 2m + 1)$
- 5. $W_{e4}(K_{n,m}) = nm(nm 1)$
- 6. $WW_{e4}(K_{n,m}) = 3nm(nm 1)$

II. Main results

Theorem 2.1

$$W_{e0}(G_{1} \sim G_{2}) = W_{e0}(G_{1}) + W_{e0}(G_{2}) + (m_{2} + 1)(D_{0})G_{1}(e_{1}) + (m_{1} + 1)(D_{0})G_{2}(e_{1})$$
Proof:
Let $E(G_{1}) = \{e_{i}(1) \mid i = 1 \text{ to } m_{1}\}$
 $E(G_{2}) = \{e_{i}(2) \mid i = 1 \text{ to } m_{2}\}$
and $E(G_{1} \sim G_{2}) = E(G_{1}) \cup E(G_{2}) \cup \{e_{1}\}$
Hence $|E(G_{1} \sim G_{2})| = m_{1} + m_{2} + 1$. In General
 $(D_{0})_{G}(e) = \sum_{\substack{f \in \overline{E}(G)\\i,j = 1}} d_{0}(e, f)$
 $W_{e0}(G_{1} \sim G_{2}) = \sum_{\substack{i < j\\i,j = 1}} d_{0}(e_{i}, e_{j}) = \sum_{\substack{i,j = 1\\i < j}}^{m_{1}} d_{0}(e_{i}(1), e_{j}(1)) + \sum_{\substack{i,j = 1\\i < j}}^{m_{2}} d_{0}(e_{i}(2), e_{j}(2)) + \sum_{\substack{i = 1\\i = 1}}^{m_{1}} d_{0}(e_{i}(1), e_{j}(2))$

$$= W_{e0}(G_1) + W_{e0}(G_2) + (D_0)_{G_1}(e_1) + (D_0)_{G_2}(e_1) + \sum_{i=1}^{m_1} \sum_{j=1}^{m_2} d_0(e_i(1), e_j(2))$$

$$\sum_{i=1}^{m_1} \sum_{j=1}^{m_2} d_0(e_i(1), e_j(2)) = \sum_{i=1}^{m_1} \sum_{j=1}^{m_2} (d_0(e_1, e_i(1)) + d_0(e_1, e_i(2)) = m_2(D_0)G_1(e_1) + m_1(D_0)G_2(e_1))$$

Therefore $W_{e0}(G_1 \sim G_2) = W_{e0}(G_1) + W_{e0}(G_2) + (m_2 + 1)(D_0)G_1(e_1) + (m_1 + 1)(D_0)G_2(e_1)$

Theorem 2.2

 $\begin{aligned} W_{e0}(G_1 \sim G_2 \sim G_3) &= W_{e0}(G_1) + W_{e0}(G_2) + W_{e0}(G_3) + (m_2 + m_3 + 2)(D_0)_{G_1}(e_1) + (m_1 + 1)(D_0)_{G_2}(e_1) \\ &+ (m_3 + 1)(D_0)_{G_2}(e_2) + (m_1 + m_2 + 2)(D_0)_{G_3}(e_2) + (m_3 + 1)(m_1 + 1)d_0(e_1, e_2) \end{aligned}$

Proof:

$$\begin{split} W_{\varepsilon 0}\left(G_{1}\sim G_{2}\sim G_{3}\right) &= W_{\varepsilon 0}\left((G_{1}\sim G_{2})\sim G_{3}\right) = W_{\varepsilon 0}\left(G_{1}\sim G_{2}\right) + W_{\varepsilon 0}\left(G_{3}\right) + (m_{3}+1)(D_{0})_{G_{1}\sim G_{2}}\left(e_{2}\right) + \\ &+ (m_{1}+m_{2}+2)(D_{0})_{G_{3}}\left(e_{3}\right) \end{split}$$

By using previous Theorem $W_{e0}(G_1 \sim G_2 \sim G_3) = W_{e0}(G_1) + W_{e0}(G_2) + (m_1 + 1)(D_0)_{G_2}(e_1) + (m_2 + 1)(D_0)_{G_1}(e_1) + W_{e0}(G_3) + (m_3 + 1)(D_0)_{G_1 \sim G_2}(e_2) + (m_1 + m_2 + 1)(D_0)_{G_3}(e_3)$ (3)

Consider

$$(D_0)_{G_1 \sim G_2}(e_2) = \sum_{i=1}^{m_1 + m_2 + 1} d_0(e_2, e_i) = \sum_{i=1}^{m_2} d_0(e_2, e_i(2)) + d_0(e_1, e_2) + \sum_{i=1}^{m_1} d_0(e_2, e_i(1))$$
$$= (D_0)_{G_2}(e_2) + d_0(e_1, e_2) + \sum_{i=1}^{m_1} \left(d_0(e_1, e_i(1)) + d_0(e_1, e_2) \right)$$

$$= (D_0)_{G_2}(e_2) + (m_1 + 1) + d_0(e_1, e_2) + (D_0)_{G_1}(e_1)$$
(4)

Substitute (3) in (4) and simplify we get

$$\begin{split} W_{e0}(G_1 \sim G_2 \sim G_3) &= W_{e0}(G_1) + W_{e0}(G_2) + W_{e0}(G_3) + (m_2 + m_3 + 2)(D_0)_{G_1}(e_1) + (m_1 + 1)(D_0)_{G_2}(e_1) \\ &+ (m_3 + 1)(D_0)_{G_2}(e_2) + (m_1 + m_2 + 2)(D_0)_{G_3}(e_2) + (m_3 + 1)(m_1 + 1)d_0(e_1, e_2) \end{split}$$

Theorem 2.3

$$W_{e0}(G_1 \sim G_2 \sim G_n) = \sum_{i=1}^n W_{e0}(G_i) + \sum_{j=1}^{n-1} [(D_0)_{G_j}(e_j) \sum_{i=j+1}^n (m_j+1)] + (D_0)_{G_n}(e_{n-1})(m_1+m_2+\cdots + m_{n-1}+n-1) + \sum_{j=1}^{n-2} \left\{ \left[(D_0)_{G_{j+1}}(e_j) + d_0(e_j,e_{j+1}) \sum_{i=j+2}^n (m_i+1) \right] \sum_{i=1}^j (m_i+1) \right\}$$

Proof: Let us use induction method on n to prove this result. By previous Theorems result is true for n=2 and 3. Assume that result is true for n=k.

$$W_{e0}(G_1 \sim G_2 \dots \sim G_k) = \sum_{i=1}^k W_{e0}(G_i) + \sum_{i=1}^{k-1} (D_0)_{G_i}(e_j) \left[\sum_{i=j+1}^k (m_j+1) \right] + (D_0)_{G_k}(e_{k-1})(m_1+m_2+\dots + m_{k-1}+k-1) + \sum_{j=1}^{k-2} \left\{ \left[(D_0)_{G_{j+1}}(e_j) + d_0(e_j,e_{j+1}) \sum_{i=j+2}^k (m_i+1) \right] \sum_{i=1}^j (m_i+1) \right\}$$

We have to prove that result is true for n=k+1.Consider

$$\begin{split} W_{e0}(G_1 \sim G_2 \sim \ldots \sim G_k \sim G_{k+1}) &= W_{e0} \big((G_1 \sim G_2 \sim \ldots \sim G_k) \sim G_{k+1} \big) = W_{e0}(G_1 \sim \ldots \sim G_k) + W_{e0}(G_{k+1}) \\ &+ (m_{k+1} + 1)(D_0)_{G_1 \sim \ldots \sim G_k}(e_k) + (m_1 + m_2 + \cdots + m_k + k - 1 + 1)(D_0)_{G_{k+1}}(e_k) \end{split}$$

Now

$$(D_0)_{G_1 \dots G_k}(e_k) = \sum_{j=1}^{m_1 + m_2 + \dots + m_k + k - 1} d_0(e_k, e_j) = \sum_{i=1}^{m_k} d_0(k, e_i(k)) + d_0(e_k, e_{k-1}) + \sum_{i=1}^{m_{k-1}} d_0(e_k, e_i(k-1))$$
$$= (D_0)_{G_k}(e_k) + d_0(e_k, e_{k-1}) + (D_0)_{G_{k-1}}(e_{k-1}) + m_{k-1}d_0(e_k, e_{k-1}) + d_0(e_k, e_{k-1}) + d_0(e_{k-1}, e_{k-2})$$

DOI: 10.9790/5728-11446165

$$\begin{split} &+(D_0)_{G_{k-2}}(e_{k-2})+m_{k-2}d_0(e_k,e_{k-1})+m_{k-2}d_0(e_{k-1},e_{k-2})+\cdots+d_0(e_k,e_{k-1})+d_0(e_{k-1},e_{k-2})\\ &+\cdots+d_0(e_2,e_3)+d_0(e_1,e_2)+(D_0)_{G_1}(e_1)+m_1d_0(e_1,e_2)+m_1d_0(e_2,e_3)+\ldots+m_1(e_{k-1},e_k)\\ &=\sum_{i=1}^k (D_0)_{G_i}(e_i)+\sum_{i=1}^{k-1}\left\{d_0(e_i,e_{i+1})\left(\sum_{j=1}^i (m_j+1)\right)\right\} \end{split}$$

Therefore

$$W_{e0}(G_{1} \sim \dots \sim G_{k+1}) = \sum_{i=1}^{k+1} W_{e0}(G_{i}) + \sum_{j=1}^{k} \left[(D_{0})_{G_{j}}(e_{j}) \left(\sum_{i=j+1}^{k+1} (m_{i}+1) \right) \right] + (m_{1} + m_{2} + \dots + m_{k} + k) (D_{0})_{G_{k+1}}(e_{k}) + \sum_{j=1}^{k-1} \left[(D_{0})_{G_{j+1}}(e_{j}) + d_{0}(e_{j}, e_{j+1}) \left(\sum_{i=j+2}^{k+1} (m_{i}+1) \right) \right] \left[\sum_{i=1}^{j} (m_{i}+1) \right]$$

Hence the result is true for n=k+1. Therefore by induction. Hypothesis result is true for all positive integers n.

Corollary 1
If
$$G_1 = G_2 = \dots = G_n = G$$
 then

$$\sum_{i=a}^{b} (m_i + 1) = (b - a + 1)(m + 1)$$

$$W_{e0}(G \ _{\sim}^n G) = nW_{e0}(G) + (m + 1)\sum_{j=1}^{n-1} \{(D_0)_{G^{(j)}}(e_j)(n - j) + (D_0)_{G^{(j+1)}}(e_j)_j\}$$

$$+ (m + 1)^2 \sum_{j=1}^{n-2} d_0 (e_j, e_{j+1})(n - j - 1)j$$

Where $G^{(j)}$ is jth image of G

Corollary 2

If
$$G_1 = G_2 = \dots = G_n = C_m$$
 then
 $(D_0)_{cm}(f)(e_j) = \frac{2W_{g0}(cm)}{m} + \frac{m+1}{2}$ If m is odd
 $= \frac{(m+1)^2}{4}$
 $(D_0)_{cm}(f)(e_j) = \frac{2W_{g0}(cm)}{m} + \frac{m}{2}$ If m is even
 $= \frac{m}{4}(m+2)$
 $(D_0^2)_{cm}(f)(e_j) = \frac{2WW_{g0}(cm)}{m} + \frac{(m+1)}{2}(\frac{m+1}{2}+1) = \frac{(m+1)}{12}(m+2)(m+3)$ if m is odd.
 $= \frac{2WW_{g0}(cm)}{m} + \frac{m}{2}(\frac{m+1}{2}) = \frac{m(m+2)(m+4)}{12}$ if m is even.

Hence

Hence $W_{e0} \left(C_{m} \, {}_{\sim}^{n} C_{m} \right) = \frac{n(m+1)}{8} \left(m(m-1) + 2(m+1)^{2}(n-1) \right) + (m+1)^{2} (S_{0}) \text{ if m is odd}$ Where $S_{0} = \sum_{j=1}^{n-2} d_{0} \left(e_{j}, e_{j+1} \right) (n-j-1)j$

Corollary 3 In $\left(C_{m} \overset{n}{\underset{\sim}{\sim}} C_{m}\right)$ if $d_{0}(e_{i}, e_{i+1}) = k$ for all ithen

$$S_0 = \sum_{j=1}^{n-2} d_0 \left(e_j, e_{j+1} \right) (n-j-1) = \mathcal{K} \sum_{j=1}^{n-2} (n-j-1) = \frac{\mathcal{K} n(n-2)(n-1)}{6}$$

$$S_1 = \sum_{j=1}^{n-2} d_0^2 (e_j, e_{j+1})(n-j-1)j = \frac{\mathcal{K}^2 n(n-2)(n-1)}{6}$$

$$S_2 = \sum_{i=1}^{n-3} d_0 (e_i, e_{i+1}) i \sum_{j=i+1}^{n-2} d_0 (e_j, e_{j+1}) (n-j-1) j = \frac{\mathcal{K}^2 (n-3)(n-2)n(n-1)}{24}$$

Hence

$$W_{e0}(C_{m} {}_{\sim}^{n}C_{m}) = \frac{n(m+1)}{8}[3m(m-1) + 6(m+1)^{2}(n-1) + 4(m+1)k(n-1)(n-2)] \text{ if } m \text{ is odd}$$

$$W_{e0}(C_{m} \ _{\sim}^{n} C_{m}) = \frac{nm^{3}}{8} + \frac{(m+1)(n-1)}{12} [3m(m+2) + 2(m+1)k(n-2)] \ if \ m \ is \ even$$

III. Conclusion

Using this link relation we can fine the edge Wiener index of some dentrimer molecules.

References

- Trinajsti N., Chemical Graph Theory, CRC Press, Boca Raton, FL, 1983; 2nd revised edition, 1992. [1]
- Wiener. H., Structural determination of parafinboiling , J. Am. Chem . Soc. 69 , (1947) 17-20. [2]
- [3] Z. Mihali, N. Trinajsti, A graph-theoretical approach to structure-property relationships, J. Chem. Educ. 69 (1992) 701-712.
- [4] Gutman I., Yeh Y. N., Lee S. L., Luo Y. L, Some recent results in the theory of the Wiener index, Indian J. Chem. 32A (1993) 651-661.
- S. Nikoli_, N. Trinajsti_, Z. Mihali_, The Wiener index: Development and applications, Croat. Chem. Acta 68 (1995) 105-129. [5]
- Gutman I., Potgieter J. H, Wiener index and intermolecular forces, J. Serb.Chem. Soc. 62 (1997) 185-192. [6]
- A. Iranmanesh, I. Gutman, O. Khormali, A. Mahmiani, The edge versions of Wiener index, MATCH Commun. Math. Comput. [7] Chem. 61 (2009) 663-672.
- [8] R. Balakrishnan, N. Sridharan, K. Wisvanathan Iyer, Appl. Math. Lett. 21, 921 (2008).